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NEW
2018
Part-II 3-Tier
GEOGRAPHY
PAPER—II
(General)
Full Marks : 90
‘ Time : 3 Hours
The figures in the right-hand margin indicate full marks.

- Candidates are required to give their answers in their
own words as far as practicable.

Tllustrate the answers wherever necessary.

Geographical Thought, Economic
and Human Geography

Group—A

Answer any five questions (within 500 words) $x10

1. Briefly discuss about the contribution of Mediaeval
- Arabian Geographers in the field of geographical evolution.

10
Or

(Turn Over)




Briefly discuss about the contribution of Humboldt in the
field of geographical evolution. 10

2. ‘Uses of non conventional sources of Energy- is very
important than conventional sources of Energy at present
day—Explain it with suitable Example. 10

Or
Describe the growth and development of cotton textile

industry in India. 10

3. Discuss about the composition and distribution of age-sex
wise population at rural and urban regions in India.
10

Or
Write down the disadvantages of under and over

population. . 10

4. Briefly highlight on tribes of India and their distribution.
10

Or
Discuss the influence of environment on the livelihood

pattern of Santhals. 10

5. Briefly discuss about the ‘Centaral Place Theory’ by
W. Christaller. 10

C/18/B.Sc./Part-11/3T(N)/GEQG/2 {Continued)



Or

Give an account of functional Classification of towns by

C. D. Harris. ' 10
Group—B
Answer any five questions (each within 250 words)

' 5x4

6. ;'Define possibilistic approach in geography. 4
' Or

State the contribution of ancient human geographers in

- the evolution of Geography. ‘ 4

7.. Why Tea called Plantation agriculture. : 4
Or

Why Iron and Steel industries are more developed at
Plateau regions ? 4

8. Discuss about the controlling factors of population
density in India.
Or

Write down the advantages of optimum population. 4

9. Identify the major ethnic groups of the world. 4
Or
Briefly discuss on the life style of Bhils. 4
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'10. Classify towns on the basic of their function. 4
- Or
Distinguish between Dispersed settlement and Nucleated
settlement. 4
Group—C

Answer any ten questions within 50 words. 10x2
11. Define Geography.
12. What is ‘Space’ in Geography ?
13. What is ‘Quantitative revolution’ in Geography ?

14. Distinguish between Renewable Resource and non-
Renewable Resource.

15. What are the major pfoblems of tea plantation in India ?
16. Mention the major industries in Haldia region.

17. Define the term race.

18.lMention the geographical location of Bushmen. 2
19. What do you mean by population policy ?

20. Mention the two cultural characteristics of Bushmen.
21. Define man-environment relation.

22. Where Todas live ?
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23. Name any two problems of over population ?
24. What do you mean by urban morphology ?

25. Define Settlement.
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